EARAROBEEIERT — 2 N— IBISH —F

201958 A23H (&) 11EIEHE4R

et EE—=-4974—1\—32 11 5% 3% ‘(3&1!9‘;};% ‘Béiﬂélasﬁ] — | # (& 14000
[A&4£] 1 7% :300,000 ™ ~ 23%&:84,000”  33&:48,000” 437 :30,000H .~ 57 :18,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- 1 _EBLE :31. -1-1- . — Brii—A (BHE
1N 4| TTRNVT =B "3 56.0 1(3_1)2 -t 3.8 ! (3?2) BEEEE
LNy vHF—Ib B:IHAIY Kitssm
P 89 B AtBHEE :32. —-3-2- . — SiEle (BEE)
2l7lg| NI ¥Ta-—&> IR 1(342)0 Foez |08 ! f;) INHKIES
L:bh—t>ya—4> B:rIHAILY IR ZRE7 7 — L
: i 3 | 1R 1:32.2 5-5-5-5 | 39.9 | — 6 495 |BETIE—B (BHEB)
6 I RFER—7 54.0 ) (+0) | BRI
L:Aa—-LisLr4o B:KFEY 21— =Eictae-]
= PNAEIR— : —4-4- — WilE— (BHE)
N - BEedZEX, i 3 o 1.(322).6 4-4-4-3 | 40.7 1 (4_019) @%ﬁ
L:bE=Xa—F— B:T4UTU—-L—X A5
3 | AzEiZE 1:33.0 9-9-9-6 |40.0| — 2 489 | NEH (BEHE)
5|5|5 AV I | * N52.0 (2) (+3) E#%—%EE
R:FLTANI N B:Fa1—=— HET77— L
S N LI R #ETE :33. —8-6- . — R (BHE)
6l111|HF>77R> i 3 54.0 1(733!:; §867 1 40.3 3 (i?i) /Jxmg
R:YLIIN—h Bieqy TLFo g IE
RS 3 | AE— 1:33.6 2-2-3-4 |42.0| — 5 427 | ROFEE (BHE)
7 7 AY—hFY2KZ 54.0 (21/2) -1) (#) KX
:IANRZXTINYGT BRTFRRANLZX [sd=tie]

2 4 3 | RREE 1:34.2 11-11-11-9 | 40.7 | — 11 448 | 1EMBIE (BHE)
gl7|9 | F—TRAE— 56.0 3) o ) 77— RETas
Ribh—trhTLARY BihENY—F5 Y1 FHS

R a):i{CES :34. ~7-8- . — WEX (BEHE)
9lgl1| K=V 7—Ya 3 ;_0 1(314)4 6-7-8-8 | 41.5 8 ;1:575) e
.G 7 NT—IEY B:x)7—Ya ESatie]
$ ; 4 3 | DNEEAIE 1:34.7 10-10-10-11{ 41.5 | — 10 | 509 |®OFE= (BHE)
EE 2| TR/ At 56.0 (1 1/2) Cy | (@ J PN
R:2hATUE— B:h//AFYU— BEWS
. 4 3 | FIHRE 1:36.3 7-6-6-10 | 43.5| — 9 50 |MTEA (BEHE)
1118110/ VE=> 56.0 ® o
K:A-xI>5U> B:=4 [=yvae]
@ 1 — S —EBlIEf
13=7r= 4,7,8,3,6,11,10,1,5,2,9
2= = 4,7,8,3,6,10,11,1,5,2,9
Jol=5r= 4,8,7,3,6,(1,10),11,5,2,9
40—+ — 4,8,3,7,6,5,1,11,9,10,2
[ N3
B OB 4 1,350 714K 4-8 1,010 % E 4-7 3,120M 3EHE 4-6-8 8,460
8 B 4 400M 4-6 1,390H B & 4-8 2,650M K31 4-8-6 58,0004
8 200M 6-8 1,200M B H 4-8 6,080
6 270M

ABICOVWTRDTEEERROODE. TR LIV,




